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I. LANGUAGE

Choose A, B, C or D to indicate the word whose underlined part differs from the other three in
pronunciation in each of the following questions.

1.

A. produce

B. pollute

C. carbon

D. polar

2.

A. confident

B. officially

C. current

D. culture

Choose A, B, C or D to indicate the word that differs from the other three in the position of the
primary stress in each of the following questions.

3.

A. public

B. private

C. dweller

D. install

4.

A. economic

B. generation

C. experience

D. electronic

Choose A, B, C or D to indicate the correct answer to each of the following questions.
5. She said she met you once at the Hilton last year. since then?
A. Have you met her

B. Did you meet her

C. Were you met her

D. Had you met her

6. It's also important to eat a diet with lots of fruits, vegetables, and protein.

Truy cdp https://loigicinay.com/ dé xem I8i gidi SGK, SBT, VBT tti1dp 1 - 18p 12 tdt c& cac moén



LOigiGihay.com
A ba]ahced B
B. unhealthy
C. poor
D. strict
7.You find time for some relaxation every day.
A. have to
B. must
C. should
D. might
8. He shared his father's that people should work hard for their living.
A. belief
B. gap
C. arguments
D. complaint

9. I had been waiting for my friends and suddenly they appear at the end of the path.

A. noise

B. noisy

C. noisily

D. quiet

10. More than fifty percent of it is made up green areas.
A.on

B. from

C. of

D. for

11. Technology will a key role in optimizing resource usage, reducing waste, and

improving efficiency.

A. make

B. take

C. play

D. put

12. Billy really enjoys but unfortunately, his parents don’t approve of it and they are making him
join the school football team instead.

A. to dance

B. to be dancing

C. dancing

D. having danced
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13. Ms Pang squested . their'web'site ih order to find out 'the iheme. o

A. checking

B. examining

C. inspecting

D. investigating

14. Certain _____in the atmosphere such as carbon dioxide, methane and nitrous oxide, block heat from
escaping.

A. effects

B. emission

C. gases

D. layers

Choose A, B, C or D to indicate the correct response to each of the following exchanges.

15. ~ Nam: What causes global warming? ~ Lan: "

A. Changes in weather patterns resulting from global warming.

B. Too much carbon dioxide being trapped in the atmosphere.

C. Catastrophic consequences of global warming.

D. Common global warming consequences.

16. David: “Sorry I'm late! The traffic is so heavy.” - Teacher: . Come in and sit down.”
A. You’re so kind

B. It’s alright

C. Me neither

D. Thank you

Complete the following sentences with the correct forms of the words in capitals.

17. Many people are trying to adopt a lifestyle these days. (HEALTH)

18. We are in need of professionals for this subject. (EXPERIENCE)

19. There will be electric buses, trains, and trams that produce no or low . (EMIT)
20. He'd learned to be in his ability to handle anything life threw at him.
(CONFIDE)

Il. READING

Read the following text and choose the best answer to fill in the blanks.

Everyone knows that exercise is good for the body and the mind. We all want to keep fit and look good, but
too many of us take (21) the wrong sport and quickly lose interest. So now fitness experts are
advising people to choose an activity that matches their character.

For instance, those (22) like to be with other people often enjoy golf or squash, or playing

for a basketball, football or hockey team. (23) , you may prefer to go jogging or swimming if

ou’re happier on your own.
y y
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\Do you/ like corﬁpetition? Thén tfy son\wethingilike' runn'ing, 6r a racket spbrt éuch as —tenni_S. If; on the othef

hand, (24) isn’t important to you, then activities like dancing can be an

enjoyable (25) without the need to show you’re better than everyone else.

Finally, think about whether you find it easy to make yourself do exercise. If so, sports like weight training at
home and cycling are fine. If not, book a skiing holiday, Tackwondo lessons, or a tennis court. You’re much
more likely to do something you’ve already paid for!

21.

A. down

B. out

C.in

D.up

22.

A. who

B. whose

C. which

D. what

23.

A. Therefore

B. Thus

C. However

D. While

24,

A. winners

B. winning

C. win

D. won

25.

A. challenge

B. victory

C. defeat

D. score

Read the passage and the best answer to each of the following.

The costs and benefits of global warming will vary greatly from area to area. For moderate climate change,
the balance can be difficult to assess. But the larger the change in climate, the more negative the consequences
will become. Global warming will probably make life harder, not easier, for most people. This is mainly

because we have already built enormous infrastructure based on the climate we now have.
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People in some temperate zones may benefit from milder winters, more abundant rainfall, and expanding crop

production zones. But people in other areas will suffer from increased heat waves, coastal erosion, rising sea

level more erratic rainfall, and droughts.

The crops, natural vegetation, and domesticated and wild animals (including seafood) that sustain people in a

given area may be unable to adapt to local or regional changes in climate. The ranges of diseases and insect

pests that are limited by temperature may expand, if other environmental conditions are also favourable.

In its summary report on the impacts of climate change, the Intergovernmental Panel on Climate Change

stated, "Taken as a whole, the range of published evidence indicates that the net damage costs of climate

change are likely to be significant and to increase over time.”
26. What is the main idea of the passage?

A. Environment pollution is real.

B. Reasons why low-lying areas are flooded.

C. Solutions to global warming.

D. Reasons why global warming is a problem.

27. Which of the following is TRUE as the result of global warming?
A. All people suffer from global warming.

B. All people benefit from global warming.

C. Life is more difficult for the majority of people.

D. Life is easier for most people.

28. In paragraph 1, the word “this” refersto .

A. harder life as a result of global warming

B. easier life as a result of global warming

C. climate change on global scale

D. flood in low-lying areas

29. In paragraph 2, the word “erratic” is closest in meaning to .
A. predictable

B. unpredictable

C. changeable

D. unchangeable

30. What may happen to diseases and insect pests as a result of global warming?

A. They will become extinct.

B. They will increase in number.

C. They will not harm our planet.

D. They will be under good control.

1. WRITING

Complete the sentences without changing the meaning.
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\31. Tlhe/ last time‘éhe éarﬁe babk tb her ho’meto{/vn Was 4'year3\ atjo. ’ |
=> She hasn't

32. If 1 were you, | would spend more time talking with children.
=>You

33. It took us only ten minutes to finish the homework.

=> We spent

34. He would rather eat vegetables and fruits than eat meat.
=> He prefers

35. Since we watch the news every day we know what's going on in the world.
=> Watching
IV. LISTENING

Listen and decide if the following questions are True or False.

Tai audio tai day

36. Sofia thinks the biggest negative is the price of houses.

37. People spend less than 40% of money on housing in Logan and Sofia’s city.
38. Sofia disagrees that noise is a big problem.

39. Logan has a noisy restaurant near his house.

40. They say that traffic, factories, and the local power plant cause pollution.

---------------------- THE END
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